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BERNRE

BH6EEL M BB L IESKEREINM

£ b g - BAKSTE B = fifl E i1
EEIEE 4,311,418
BEXEHE 4,311,418
TILF E—LBIE 4,311,418
TILF E—LBIE 4,166, 418
BlEEEfE 590, 927
1 BlE%E 1.00 345,016 345,016
=
2 HEREN (1) EHHRMX 1.00 163, 941 163, 941
=
3 HEAEN (2) P9 EIE X 1.00 81,970 81,970
=
KEgAI= 1,575, 186
4 EETXEM) EHEX 1.00 1, 349, 406 1, 349, 406
=
5 KiEBI=Z () EH R 0.01 2,822,259 28,222
km2
6 KiFEBIE (2 EHEMX 0.07 2,822, 259 197, 558
km2
BEERE 14,010
1 RRA=E 0.18 51, 408 9, 253
km
8 FRBIEEHER 1.00 4,757 4,757
cm
FERA=E 694, 727
9 BETX Q) M E X 1.00 674,703 674,703
=
10 JKiFEBIE (3) EHEX 0.01 591, 330 5,913




BERNRRK A6 FE AL M B TSR BRI B S 4

£ b g - BAKSTE B B 2 B ® & wm =
km2
11 KiFEHIE 4) I E X 0.01 1,411,129 14,111
km2
523 1,111,718
12 RESERK 1.00 1,111,718 1,111,718
=
W& - |E 179, 850
13 EritHE 1.00 78, 150 78,150
[=]
14 R E 1.00 50, 850 50, 850
[=]
15 mIR|E 1.00 50, 850 50, 850
[=]
EEREE 145, 000
523 100, 000
16 XERRA 1.00 100, 000 100, 000
=
MEILRERE 45,000
17 ELRHEE 1.00 45, 000 45, 000
IiE




BH6EEL M BB L IESKEREINM

4 g K - AR Bl 2 il * % W=
EEAEE 4,311,418
HRH 4,311,418 x 72.4% — 2,884 3,118,582
HEEXE 4,311,418 + 3,118, 582 7,430,000
R EHME 7,430, 000
HBEREALE 7,430,000 x 10.00% 743, 000
REXHE 7,430,000 + 743,000 8,173, 000




Rtz -/ \vr—

TH6FEIL M BE LKA ESM 4

&5 1
& BEEE R 1X&Y
£ r R - KT B 2 fili & % W = B &
BlEEEFHEm
A 2.00 54, 600. 00 109, 200
B EHER
A 3.00 47,100. 00 141, 300
B EFEE
A 2.00 36, 900. 00 73, 800
RIEBF
A 0.50 34, 600. 00 17, 300
AN 2{KDY%
% 1.00 341, 600. 00 3,416
= g YEZERED 1. 00K 345, 016. 00 345,016
&5 :2
B BAER () ZEHEHMEX 1X&Y
£ 5 R - KT B 2 fili & % W = % &
REHENE
A 4.00 25, 900. 00 103, 600
cSvy 2tiE
=] 2.00 29, 359. 00 58,718/4.70H / 8H
AN 2KDY%
% 1.00 162, 318. 00 1,623
= g YEZERED 1. 00 163, 941. 00 163, 941
&5 :3
B BAERR () FMREHER 1X&Y
£ r R - BAKTiE B 2 fili & % W E B &
REHENE
A 2.00 25, 900. 00 51, 800
cSvy 2tE
=] 1.00 29, 359. 00 29,359/4.70H / 8H
AN 2KD%
% 1.00 81, 159. 00 811
= g YEZEREDN 1. 00K 81, 970. 00 81,970




Rtz -/ \vr—

TH6FEIL M BE LKA ESM 4

EF5:4
£ - BETAN() BEREHX X5y
% 4 Mg - AR TiE BfL =S B i = " &

REE Z4 b2 2L

=] 2.00 3, 560. 00 7,120/2.00H / 8H
HE AN

A 2.00 54, 600. 00 109, 200
B2 Am

A 3.00 47,100. 00 141, 300
B2 XA

A 3.00 36, 900. 00 110, 700
HEBF

A 2.00 34, 600. 00 69, 200
HE M FRP D 70PSZ!

=] 2.00 83, 623. 00 167, 246 8H
GNSSAIGI S E DGNSS

=] 2.00 25, 740. 00 51, 480
TILTFE—LEEAIFH 36~455kHz

=] 2.00 339, 900. 00 679, 800
A EX:YOV!

% 1.00 1, 336, 046. 00 13, 360
=) & EEHED - 1,00 1,349, 406. 00 1, 349, 406
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TH6FEIL M BE LKA ESM 4

&5 :5
& KFEAZE () EHEHRX 1BHHY (0.22km2)
% 73 R - BAKTiR B = B £ = H %
REE 54 kY 2L
=] 1.00 3, 560. 00 3,560/2.00H / 8H
A= FRP D 70PSZ!
=] 1.00 83, 623. 00 83, 623 8H
B2 EEHEm
A 1.00 54, 600. 00 54, 600
B S HAm
A 1.00 47,100. 00 47,100
B S AmE
A 1.00 36, 900. 00 36, 900
BIEBF
A 0.50 34, 600. 00 17, 300
GNSSRIfI & DGNSS
=] 1.00 25, 740. 00 25, 740
TILF E— LTEBIFEH 36~455kHz
=] 1.00 339, 900. 00 339, 900
HME 2EDY
% 2.00 608, 723. 00 12,174
= g 1E%REN :0.22km 2 2,822, 259.00 620, 897




Rtz -/ \vr—

TH6FEIL M BE LKA ESM 4

&S :6
&% KFRAZ(2) EBHFHMX 1B%Y (0.22km?2)
£ r R - KT BARL 2 BO{f | W = B &
REE 54 kY 2L
=] 1.00 3, 560. 00 3,560/2.00H / 8H
A= M FRP D 70PSZ!
=] 1.00 83, 623. 00 83, 623 8H
Bl EEHE
A 1.00 54, 600. 00 54, 600
B EHER
A 1.00 47,100. 00 47,100
B E A
A 1.00 36, 900. 00 36, 900
RIEBF
A 0.50 34, 600. 00 17, 300
GNSSRIfI & DGNSS
=] 1.00 25, 740. 00 25, 740
TILF E— LTE B 36~455kHz
=] 1.00 339, 900. 00 339, 900
AN 2KD%
% 2.00 608, 723. 00 12,174
= g EEREN 1 0.22km 2 2,822, 259.00 620, 897
&5 .17
& FERAE 1HHY (2.4km)
£ 7 R - KT BARL 2 BO{f | W = B &
REE 54 kY 2L
=] 1.00 3, 560. 00 3,560/2.00H / 8H
B EHER
A 1.00 47,100. 00 47,100
BRI E A
A 1.00 36, 900. 00 36, 900
RIEBF
A 1.00 34, 600. 00 34, 600
AN 2KD%
% 1.00 122, 160. 00 1,221
= g YE%HBEN : 2.40km 51, 408. 00 123, 381




Rtz -/ \vr—

TH6FEIL M BE LKA ESM 4

%5 :8
& FRAEEREE 10cm%y
£ r R - KT BARL 2 fili | W = B &
B EHER
A 1.00 47,100. 00 47,100
AN 2KD%
% 1.00 47,100. 00 471
= g YE%HESN : 10.00cm 4,757.00 47,571
59
M BETALQ FHATREHER 1X&Y
£ r R - KT BARL 2 fili ] W E % &
REE 54 kY 2L
=] 1.00 3, 560. 00 3,560/2.00H / 8H
Bl EFHEm
A 1.00 54, 600. 00 54, 600
B EHER
A 1.50 47,100. 00 70, 650
B E A
A 1.50 36, 900. 00 55, 350
RIEBF
A 1.00 34, 600. 00 34, 600
A= FRP D 70PSZ!
=] 1.00 83, 623. 00 83, 623 8H
GNSSRIfI & DGNSS
=] 1.00 25, 740. 00 25, 740
TILF E—LTEBIFEH 36~455kHz
=] 1.00 339, 900. 00 339, 900
AN 2{KD%
% 1.00 668, 023. 00 6, 680
= g YEZERED 1. 00K 674, 703. 00 674, 703




Rtz -/ \vr—

TH6FEIL M BE LKA ESM 4

H5:10
2 KFEAE Q) EHHRHMX 1BH&HY (1.05km2)
2 Lo HE - BT B = B M | W = H %
REE Sq Ny 2L
| 1.00 3, 560. 00 3,560/2.00H / 8H
AIE A FRP D 70PS%Y
| 1.00 83, 623. 00 83,623 8H
B FEHE
A 1.00 54, 600. 00 54, 600
I E AR
A 1.00 47,100. 00 47,100
RIS
A 1.00 36, 900. 00 36, 900
REBF
A 0.50 34, 600. 00 17, 300
GNSS:RIfI 2= E DGNSS
| 1.00 25, 740. 00 25,740
TILF E— LBEERIRE 36~455kHz
=] 1.00 339, 900. 00 339, 900
MM EXZNOY)
% 2.00 608, 723. 00 12,174
& B E%EBEN : 1.05km 2 591, 330. 00 620, 897




Rtz -/ \vr—

TH6FEIL M BE LKA ESM 4

&H#5: 1
&% KFER=ZE Q) FHMEEFEHE 1BHHY (0.4km2)
2 Lo HE - BT B = B M ® & W = H %
REEHE 4 kN2 2L
=] 1.00 3, 560. 00 3,560 2.00H / 8H
BIE M FRP D 70PSZY
=] 1.00 83, 623.00 83, 623 8H
B FEHE
A 1.00 54, 600. 00 54, 600
=570
A 1.00 47,100.00 47,100
RIS
A 1.00 36, 900. 00 36, 900
REBF
A 0.50 34, 600. 00 17, 300
GNSS:RIfI 2= B DGNSS
=] 1.00 25, 740. 00 25, 740
TILF E— LBEERIRE 36~455kHz
H 1.00 339, 900. 00 339, 900
AN EXZNOY
% 2.00 608, 723. 00 12,174
& B 1E%HfEN :0.44km2 1,411,129. 00 620, 897
H5 12
B |mESER 1KY
2 Lo K - BT B = B M ® & W = H %
B FEHE
A 4.10 54, 600. 00 223, 860
I E AR
A 10. 50 47,100.00 494, 550
RIS AT
A 9.50 36, 900. 00 350, 550
AN EXZNOY
% 4.00 1,068, 960. 00 42,758
& B 1YE%HEH - 1.00K 1,111,718.00 1,111,718




Rtz -/ \vr—

TH6FEIL M BE LKA ESM 4

H5 13
2 BATHE H=ER
2 Lo HE - BT B = B M ® & W = H %
B FEHE
A 1.00 54, 600. 00 54, 600
I E AR
A 0.50 47,100. 00 23, 550
& it 1YEZHER - 1.00[E 78, 150. 00 78,150
H5: 14
&F : RS 1EHY
2 Lo HKE - BT B = B f ® & W E E %
B FEHE
A 0.50 54, 600. 00 27, 300
=501
A 0.50 47,100. 00 23, 550
& it 1YEZHER - 1.00[E 50, 850. 00 50, 850
H5: 15
2 . RB|E HEED)
2 Lo K - BT B = B f ® & W E E %
B FEHE
A 0.50 54, 600. 00 27, 300
I E AR
A 0.50 47,100. 00 23, 550
& it 1YEZHER - 1.00[E 50, 850. 00 50, 850
H5:16
2 EBHRSR 14y
2 Lo K - BT B = B M ® & W E w %
(BRRERE
= 1.00 100, 000. 00 100, 000
& it 1YEZHEH - 1.00K 100, 000. 00 100, 000




Rz -ET/ Ny —2

SH6FEEIL AN EE LK S 4
&H5 17
2% EIREE 1TEHY
2 Lo R - KT B = BO{f & | # " %
E-AYUTHRE
I 1.00 45, 000. 00 45, 000
& it 1E%fEH - 1.00TFE 45, 000. 00 45, 000




BEifE SH6EEI AN BB LKA 4
BiHRES 1
BlREAM: FSvy 2tHE 1HZY 4.70H / 8H
% 73 R - BIRTiE BAf % =B B i ® & B &

23
i} L 18.00 144. 00 2,592
BEF (—f%)

A 1.00 22, 400. 00 22, 400
BH (o [EER]D) 2tE

=i 4.70 273. 00 1,283 EERRERE
BH (v o [EER]D 2t

B 1.13 2, 730. 00 3,084 #®EA
& it 29, 359
BiHRES :2
BEREM : XBE S4 kY 2L 1H%Y 2.00H / 8H

% 7 R - BIRTiE Bf % = B i ® & B &

AU

L 7.00 158. 00 1,106
B (A4 MNAVI[AVIDIUDY - Ty RETEANE HRE2.0L
EREH]) RS 2.00 287. 00 574 EERRERE
B (SA4 MNRV[HAVIDIUYY - 2 REEELE HRE2.0L
EREH]) =] 1.19 1, 580. 00 1, 880 #HE"
& it 3, 560




Hifi&

TH6FEIL M BE LKA ESM 4

HifiR&ES : 3
% FR RAE - MRk Bifif % B B ® # 1 " %
EiHA
L 44.00 106. 00 4, 664
EfRMmE
A 1.20 33, 100. 00 39,720 B=1.20
B8 (X@f[FRPE]) D 70PSE 3.0GT
H 1.00 3,210.00 3,210 EEA
B8 (@ [FRPEL]) D 70PSE 3.0GT
H 1.65 3, 360. 00 5,544 a=1.65 #Re
BEEEE
% 26.15 53, 138. 00 13, 895
—REEE
% 24.75 67,033. 00 16, 590
& & 83, 623




